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JERRH R X 1 130, 309, 780
HEELT = 1 15, 860, 090
HRHEI T = 1 758,100 |FHiA (b—27) 3, 000 m3
+1 &850, 000m3ATH ;
BEARRE AT = 1 500, 600 | &R (FLE8) S+ 2,000 m3
4. 0mPL E
BRE LT = 1 3,177,800 |BEERE A 1, 000 m3
4. 0mPL E
A5k 1 X
Rkt A = 1 2,748,600 |JEHEEETE (B)LH0) 2, 000 m2
BUSHIRE VHE L b O L kit
LRI (B 1350) 2, 000 m2
T i S O I BRI
5527 ) =} =X 1 5,336,000 |9E 0D ay7)-} 2,000 m2
J&5cm 18-8-25 (20) (FlF)  2v7)-M& IR
ﬁ .
P v T = 1 3, 338, 990 im%ﬁ@ﬂ&“ 1 X
0 Cadl- EHIRY £5Te) ;
¥ 2Ly 1 2V
BEVEL
MR B T = 1 2, 469, 900
HAEXTLEHET = 1 1,676,800 | HEM&E 500 m3
FEE T B A I3 v i & 54kg/m3 A JK
B 2 1 793,100 | {E#a 100 m3
YA
b 1 =X
0 Cabl- EHIRY £5Te) ;
¥ 2Ly 1 X
BEVEL
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L = 1 33, 220, 900
fliAE T = 1 8,194,900 |%& +MRAf 1, 500 m2
[Elem &EMAT T 1000m2LL L ;
A B4 IR A 900 m2
Sem AR EAFRAT T 500m2 8L - 1000m2 K ;
ANTHEZ 1, 000 m2
it E
EEWRAT T = 1 25,026, 000 | 2/7)—pR AT 3, 000 m2
W@t A/ b JE10cm
HEKHEEY T = 1 2,766, 244
EELT = 1 457,144 | FRHEY 1 X
+4)
HEL 1 2V
HmEEE 1 =X
oAb E 1 X
+wp CEHR - ERIRY LET) ;
b5y A% 1 X
BEVEL
AR T = 1 2,309,100 |7° V¥¢AMUBLARITE 100 m
OKERA)
E 30cm & 30cm ;
7" Vv A NUBRMAITE: 100 m
GEREH)
E 30cm & 30cm ;
KT 2 1 652, 557
EELT = 1 289, 457 | FRE Y 1 =X
+4)
HEL 1 X
+4)
R Zp s 1 =X
| fib S E 1 =
-2 - Etss@d SN R
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+wp CEHR - ERIRY LET) ;
¥ 50y 1 2V
BEPEL
TR X 363, 100 | Hi AR % 100 m
6 100 ;
EEEET = 30, 096, 740
EhLL R T = 1,249,500 | REEEIE 7, 000 m2
MEMIEL ;
TA7 7 Ml T X 17,609, 200 | T /e & (HE - BEIE ) 7, 000 m2
FEIT9Y%77 RC-30 AV /E 100mm ;
g (I - BIF ) 7, 000 m2
AR EET A2/ (13) &H%EE 40mm 3. Omid ;
F-n" =4 L = 10,948, 000 | g (BiE - BRIEED) 7, 000 m2
AR EET A2 (13) FHIEHEEE 40mm 3. Om
it
TAT 7V MRS T = 290, 040 |~ vFvs° 3 t
HABRLET A (13)
oL 2 119, 500
A T = 119,500 |7Ap-7" 100 m
FAMRLEET 22 (13)  155em2Lh_175em2AT ;
Bh AT L 2 5, 152, 829
FRANIBA AT L =X 880, 000 | "=} V=-p 100 m
B Gr-C—4F 100mLA = ARG IEAE ;
B LA T 2 4,272,829 | JEAfET nyy, S RN 101 &
B L R
A0 - AL (ST ARG 1R 200 m
M1, 5m —fR
EINZRIR 200 m
BRRIPAZEN(7" M
HRVE (RAIHT) B 1AM 100 m
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X JEj o L 2 1 363, 200
X IR T 2 1 363,200 | VAR X R 1, 000 m
R TE) 958 B 15em JE 1. 5mm Pk MEEHLE
40 .
H AT B MR T = 1 1,262,718
BT X 1 353,040 |HESHT 30 PN
120X120 X900 A& & FLpEE L ;
Bt 30 #
40X 100X 2 (&) 30#Lh |
Pk T = 1 908, 778 |PHEL 5 m
IE 600mm ER5" 47" ;
P B F T 55 m
HhE 1.1m EAESA
S-SR = 1 774, 765
Bk s L =X 1 774,765 | HREIER (A 150 m
HEFE D &0. 15m3/mPA T #3 ;
MEER (NJ1) 150 m
HEFE D80, 15m3/mPL T A3 /)1
Py 30 &30
AN BHZE LR 25emAT ;
SR g U 1 =
Uz e YU 1 X
BEPEL
FRELT 2 1 2, 654, 100
B SR T # 1 2,654,100 |EKERE (HA) 5, 000 m2
(FHHPRAED)
HEWbRE (B0
JEERE (A 15, 000 m2
(FH PR AET)
BEMEREL (v A )
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JERERE (A 2,000 m2
(BB )
FEbRE (B0
FREASy 1 X
s ALER T = 25, 256, 970
LR EZE T (B ) X 24, 625,600 |HHRIEEE 1, 000 HRE ]
EErEEE 1, 000 i3
TEEE T (— %) 1,600 =]
TEEE T (FFER) 1,600 =]
TN [ bR ] 800 iR
FHE B PEXEL 5L ;
VAN VEVA 7 S A A AP -1 T 800 iR
PAW Y
N yJy (Ju-70) 800 i3
[LIFE0. 28m3 (CF-AH0. 2m3)
B=wn=p" (b 7Ry an’ ) iEi5 800 iR
[LIf&0. 5m3 ;
o5 1, 000 be
62X 48cm L FkHELE ;
FIREH 100 £
45 (30kg)
N RSLEEVEZE T (1K) X 631,370 |HBREEEER 30 HRE ]
EErEEE 50 i3
TEEE T (— %) 40 =]
TN [ bR ] 20 iR
FHE B PEXEL 5L ;
VAN VEVA 7R A A AP L-1 T 20 iR
2t8E %
HEYE T =X 1, 600, 267
B T =X 136,600 | Byatehiii s (0 -1 Vi) 100 m
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e LT IS 1 924, 657 | ) XS L 30 m3
MRS BbkE T
/) ) -MEEEBUE L 30 m3
ERApIEEY) FAE T ;
ERZE R LD 1 2V
TAT 7 MEEERR 15emPL T
EhAE AR AR 600 m2
TA77 VMRS BEERE e m
TR AL T = 1 539, 010 | &k 30 m3
av ) -bik (BER5)
GEaL-tilld 30 m3
/) -hik Bk
GEaL-tilld 30 m3
TAT7IVNE
By 30 m3
av ) -bik (BER5)
By 30 m3
/) -hik Bk
By 30 m3
TAT 7V
% T = 1 8, 059, 000
THEHER T = 1 688, 300 | FAbF 1, 000 m2
U BLFREE ) A150-0 BUE 200mm ;
gt = 1 103, 700 | MEmERE + 100 m
Kigid 30cm S 30cm ;
EEWRAT T = 1 1, 147,000 | {53% FEMIVIK S 500 m2
EFB (54) 500m2LL L 1000m2ATE IEHEE R R
FEOMIERE ;
B EHT =X 1 6, 120, 000 | 3185 B2 (i B 1 =
RN X 7 1 130, 309, 780
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IR 2 1 14, 224, 620
BISTIGE: = 1 1,571, 620

Bt By 2V 1 367,620 | BHFEMO KT BLD 7= b O FE A BR 1 =

TER R AT e A 1 =
BGRESGESE (5 L) = 1 1, 204, 000
B (FEEHL) = 1 12, 653, 000
T = 1 144, 534, 400
Bl gy 2 1 43, 461, 000
T =5l = 1 187, 995, 400
— R A 2 1 29, 644, 600
TS 2 1 217, 640, 000
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